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Reactive System: Bridge Controller



Announcements

• Lab2 released
• WrittenTest1 coming
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State Space of a Model
Definition: The state space of a model is
the set of all possible valuations of its declared constants and variables, 
subject to declared constraints. 

Q1. Given some example configurations of this initial model’s state space.
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Bridge Controller: 
Requirements Document
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Initial Model: State and Events



Bridge Controller: Abstraction in the Initial Model
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Bridge Controller: State Space of the Initial Model

Static Part of Model

Dynamic Part of Model
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Bridge Controller: State Transitions of the Initial Model
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